L3
c

o

=l
Hwﬂ
=< =r
pog
E’_.;__A.__-
g
-H.WO
e
= X
1$4° 9

<

'224271(10~128)

MEA|
L _N _..m. ) ﬁ_l

HEItBLIC,

Mg 2 AA| ABdEE e 57| flote] dA7LE 7o 2

2|
=

MEA HMI7LE -

siAet eiAlge] QstE glstof

Ndgkg"S MEAIR of2{2m ERLC

Al HAM7H

o
=

A

L=}
=




2il-0hed Ewk it
KHZA| FEPIA 2R R




(" 2:H-vhed Eggu kl,z";\
AEA| ZEPUA 2R IPIE]

37 14
588 547
655 655
642 64.1
75.8 70.4
718 702
633 63.1
68.8 64.9
65.0 64.8
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711 66.5
597 59.1
65.4 61.1
614 60.8
633 579
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56.7 54.7
65.5 66.8
65.3 64.0
68.1 70.6
74.0 70.1
65.9 63.3
66.8 64.7
64.6 63.8
55.8 57.8
59.9 64.1
69.2 65.8
60.2 59.8
66.9 61.1
62.1 60.9
60.0 57.3
55.5 544
66.4 64.4
53.9 56.9
51.5 60.2
72.0 60.4
39.0 51.2
69.9 713
76.9 74.2
82.8 73.8
70.1 67.8
63.1 62.5
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54.4 54.9
65.5 66.8
58.5 64.2
65.5 71.3
76.7 69.2
66.6 61.8
62.3 64.9
67.0 64.5
55.1 57.6
63.7 65.7
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63.0 60.5
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60.0 57.3
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65.8 64.3
54.8 56.4
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72.3 60.6
49.3 50.7
66.3 70.5
66.2 70.8
75.9 73.8
713 68.4
62.3 62.5
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& HMEN| MEHE(%)
ZeT 4.0 G 5.7
Cias 4.2 Cican 5.2

15 45 = 5.7
M7 4.1 Gl 4.8
gotp 4.5 o 4.9
77 43 Cites 5.1
27 3.9 TET 5.1
ST 43 Cliay 5.7
L7 4.4 Ly 7.3
27 4.4 =37 5.6
Ly k=1 4.4 SH=+ 5.4
ST 4.2 SEHH 5.4
1§« &=} 47 1] 2o 5.6
PR k= 47 MOHEF 5.9
MET 40 ES 49
M= 41 g3+ 5.5
47 4.0 Chn 6.1
e 41 St 54
AT 3.9 iy 5.0
o=z 4.2 gsz+ 5.3
43 4.1 4 5.3
257 42 257 5.3
z27 43 SET 6.3
=7 4.4 Can 6.2
CL-na 4.1 387 5.1
MEA| 42 MEA| 5.4
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